1. Perimeter of a rectangle:
The width of a rectangular playground is 2x-5 feet, and the length is 3x+9 feet.  Write a polynomial P(x0 that represents the perimeter and then evaluate this perimeter polynomial if x is 4 feet. 

2. Swimming Space:

The length of a rectangular swimming pool is 2x-1 meters, and the width is x+2 meter.  Write a polynomial that represents the area.  Find the area if x is5 meters.

3. Square lot: 

Sam lives on a lot that he thought was a square, 157 feet by 157 feet.  When he had it surveyed, he discovered that one side was actually 2 feet longer than he thought and the other was actually 2 feet shorter than he thought.  How much less area does he have than he thought he had?

4. Compounded semiannually:
P dollars is invested at annual interest rate r for 1 year. If the interest is compounded semiannually, then the polynomial P
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^2 represents the value of the investment after 1 year.  Rewrite this expression without parentheses.  Evaluate the polynomial if P=$200 and r + 10%

5. (14y+8y^2+t^3+12)
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6.   Perimeter of a rectangle:

      The perimeter of a rectangular backyard is 6x+6 yard.  If the width is x yards, find 

      a binomial that represents the length.

7. CD rollover:

Ronnie invested P dollars in a 2-year CD with an annual rate of return of r. After the CD rolled over three times, its value was P
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.  Which law of exponents can be used to simplify the expression?  Simplify it.
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     9.    Present Value:

            The present value P that will amount to A dollar in n years with interest 

            compounded annually annual interest rate r, is given by 

             P=A ( 1 + r ) ^ -n

            Find the present value that will amount to $50,000 in 20 years at 8% compounded 

            annually.
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